YEAR 10 — SIMILARITY. ..
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What do | need to be. able to do | feywords

By the. end of this unt you should be able I
to:

Enlarge: to make a shape bigger (or smaler) by a given muttiplier (scake. factor)
[ Scake Factor: the mutipler of enlargement
* Work fhentl with hupoteruse, opposte | Constant: a vale that remains the same

| |
! |
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|
| and adacent sdes I Cosine ratio: the ratio of the kngth of the adiacent side to that of the hypotenuse The sine of the |
| ¢ Use the tan sine and cosire ratio to ] I
' |
' |
' |
' |
' |
|

find missing side. kengths I cgmplerr_\eht
. Use the tan, sine and cosine o o I Sine ratio: the ratio of the length of the opposite side to that of the hypotenuse

find missiig anges [| Tangert ratio: the ratio of the length of the oppostte side to that of the adacent side

e Cabute sides usng Puthagors’ 1] Inverse: function that has the opposite effect

Theorem ” Hypoteruse: longest side of a right-angled triangke. 1t is the side opposite the right-angle
_______________________________________________ 1
(e e T T |y o T Y T T T T
: Ratio in right-angled triangles e te s & te s : | Hupotenuse, adiacent and opposite ONLY gi-anged trandes are beled n :
I b ako remain the same : : ’ ODJOCENT ths vy |
I 2cm 100 em . I OPPOSITE Next to the angle in question |
I 101c ) L 30 ' L 30 R l Oiays oppostte an acute ange Often labeled It |
| " n 1] el to e secrd '
I ab [a=L g‘ 0 007 x I Postion depend upon the. ange Obwaiss the longest side :
: 2 A 5 100 007 014 l in use for the question HYPOTENUSE Oways opposte the right angle |

Useful to label this first
L O |
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| Tangent ratio: side lendths || Sin and Cos ratio: side enits |
I
, Tind - opmostte sce. L1 opposte S - oot <o ||
an opposiie sice [ Sin@ = opposite side ODJOCENT Cos® - odiocent side | |
: adjacent side ¥ x cm hypoteruse side x cm hypoteruse side | |
L - |
: Substitute the vales into the tangent formula I Substitute the valves into the |
I NOTE p |
l= T34 = 10 I 12 cm The Sinlx) ratio is 12 cm rato fomuia |
F
85 x I HYPOTENUSE  the same as the Equations might need |
32 I Cos(90-x) ratio HYPOTENUSE |
1870 Equations mght reed | | reartanging 1o solee |
I 10cm AN L e =
I OPPOSITE ' Pithicoras theorem € 0 7 7 0 —— |
xxTan34 - 10, |1 Pythagoras theorem [ e }
I o Y o Hypotenuse? = g + b Places to look out for Puthagoras I
| x=_10 . -148&m | | - Perpendcular heights in isosceles |
I Tan34 I %, This ' commutative — the trianges |
.- 1 A%k square of the hypotenuse s - Diagonaks on right angled shapes |
[ — et 4l &, equal 1o the sum of the - Dslance betwieen coordnates |
| Slﬂ, COS, Tan: OMICS : : s squares of the two shorter - Ony length made from a right angles |
I : . , 1 sides |
I [ LE AR } ————--—-—--—-—--—-—--—-—-—-—-—-—-————————————2
: ODJOCENT Label uour triand I : anales Because trig ratios reman the same for smiar : I heu GHQ|CS 0° and 90° |
| Z om © %(;Ur ;lm@i I | Th s caui b cabuted shapes you can generaise from the folowing | : |
| ._.5 [] tr;onomsffgic EQO{I)O : I xmnng Puthagoras statements | |[ Tan0 =0 ] [ TM& ] :
8
I & Substitute vabes it~ | : Tan30- — |[Cos30- o] Sn30~ % : T wbe oot e s 5|
|l < the. ratio formul 1 'V3em 2¢cm V3 2 V3 | mpossbe as you canvot hae two |
| 4cm —————— |, s\, (160~ V3 J|Cos60-F | Sn60- Jil e
| 6 =Tan %};g% :I Tem | |mh2m :
| Tan6= _ 3 . > < |I | | e I
| 4 6 =S opposte side |I 2 |I[ Sin0 - 0 ][ Sin90 = | ]|
|0 Tan! 3. hupolerse ] 111 e [N (Tanas-1) [00345= i][sms - i]: | !
4 o | > 2 2 )11 (Ccos0-1) ((ost0-0 ]!
I . | 8 =Cos! adicentsice | ! H I
| 6-36%, hypotenuse side | | | Tem I
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